SAP ABAP table ICL TICLO61 S {Structure of Table TICLO61 }
ICL TICLO61 S-CLIENT = TO00-MANDT
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- 0..N [QUESEQ [CHAR (3)]
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MANDT [CLNT (3)]

TBRF150

CLIENT [CLNT (3)]

N [IMPORT_STATUS [CHAR (1)]

APPLCLASS [CHAR (30)]

VERSION [NUMC (4)]

0.N

~

TBSFCO000

CLIENT [CLNT (3)]
APPLICATION [CHAR (3)]
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70,1} ~ICL TICLO61 _S-AVARIANT = TBSFCO002-AVARIANT

1~ ICL TICL061 S-CATEGORY = TBSFC004-CATEGORY
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VERSION [NUMC (4)]

TBSFCO002

CLIENT [CLNT (3)]
APPLICATION [CHAR (3)]
0. N | QUESEQ [CHAR (3)]
VERSION [NUMC (4)]
QUESTION [CHAR (5)]
ANSWER [CHAR (3)]
AVARIANT [NUMC (2)]

TBSFC004
CLIENT [CLNT (3)]
APPLICATION [CHAR (3)]
CATEGORY [CHAR (2)]

TICL0OO3
CLIENT [CLNT (3)]
0..N | CLTYPE [CHAR (4)]
GENERAT [NUMC (5)]
VERSION [NUMC (5)]

TICLO11
0..N | CLIENT [CLNT (3)]
CLTYPE [CHAR (4)]
- 0-.N [VERSION [NUMC (5)]




